
90365
M3x3 (S)

Parts whose Ord.No. is stated in full, e.g. 
(Ord.No. 47/11) are not included in the kit.

mit "Ord.No." versehene Teile sind NICHT im 
Bausatz enthalten!!

Einziehfahrwerk
Ord.No. 160

65

90365
M3x3 (S)

155

156

154

155

156

159A

156

72 A
Ø2x24mm

72 A
Ø2x24mm 155

45

154

90365
M3x3 (S)

154

90365
M3x3 (S)

90365
M3x3 (S)

154

156

90365
M3x3 (S)

Ord.No.159

90365
M3x3 (S)

90015
M2x8

90015
M2x8

45

155

(K)

(K)

(K)

90365
M3x3 (S)

90365
M3x3 (S)

(K)

90015
M2x8

90015
M2x8

90260
M2x10

(K)

72 A
Ø2x24mm

147

152

90485
M2

90485
M2

90260
M2x10

153

151

157

151

157

(K) Ord.No.10/27

(S) Ord.No.10/24
S

54/8
2x30

90365
M3x3 (S)

4x19mm

155

154

150/1 4x19mm

10/02


